0o
EofEAZE
R5.10
iz
fsme =40 o 1= =

SEER (15 FA SR EERSRY B5)
N R
2487 (T oel= S5 £ B 8
BARB/ (7E8) CRFNKAEIHRI i)
[BRART MIEM - BRBEIC OV TITROIRBREECEZS,
<EFBREE>

- fBA. RACEHFBEET > TS0,

« fBAEE 1 BEMETICRE LTI IES0,

c HELHRE, BIRECIDERERFIERDBENDDFTID T TEITSU,
< BA - RACEREBMNSTI, RAIMREDKRESIT, AT TILEEN., RENDDIHBEIIODELTNELEELT.
- BEROFMABICHIZEVFHRE UIEBFICDONTIE, HHETI—UEEEZENETE A,

- BRMOERICDONTE, SBTCAREESN, 2.

A3PA—FREBETIE-LUTLES,

BS fi@ 52 = w E||BS 5] 52 = =
1T N5y v o (B % B ) 20 191X AH 4 U 0O R 19
2 X5y v o (CE R A 10 20 |X ZT R Hh «4 U O R 2
3 5 57T (66Xt yY ) 22 21 |[DPSU—NEIVYRY(ST Y R3F-R=JL1) 9
4 )31,3 OYImR—=IL (4HEY ) 12 2| KN LV — &2 v bk 2
5 | 2v|¥Y3—kR—J)L (4HEY ) 3 23 [Py FE—-FT 1RO (K) 5
6 | Tlas-ronmmzsmn 15 (8F0)3 24 Ry FE-—F122 (D) 10
7 O — U v g 3 25 | Kf@BO (BSVA) 23m 4. 10m : 1
s B E RN — L v ~ 2 26 K@% (BERA) 28m @ 2
9 < £ M - 32 27 |8 B O (B &4 B ) 24
10 | & D N — W 1 28 1K B A Hh S5 — ¥ 25
M1 |23 N=J)L)NLU =M= JL 2 2|7 v )X = F v T 40
122 57 -7 (BESB) b5 3o My F v (BEREAA) 4
13|22 O Y 57 « & v K 2 31 ATy Fv» (BENERTEE) 2
14 |7 1 2 - b 6 32 | O I P N v F v 2
15 | ¥ - A W 0 2 3B |1 S v O P Tk 1
168® ® T t v ~ 2 34 | sl = (B A B ) 2
17|12 00—« v J Y d 4 35 |# 31 & (B 4 B ) 2
18| I )L X R F — Y 2 3 IE S B X Y v — 4
@ 5 = w2 2N = Y B & &R 5T B =2
N 4 T8 F (B % B ) 50 G W 142 920H
= m CEB % B ) 13 7z [HFEE (B 158 2090MH
E B Z ( B % B ) 13 % SAYF—T (4cmx18m) 412200
T b t 16 Bg [51Y7—7 (Bemxe6m)  2%2610M
NS—D-Y (BHCEXDNMUETY) A lsEs—7 1# 310/
4230 - )L (EKI—-F) 4
MERE (SBHICEBRADPHUETT) ] =
J\ > = X 3R > 5
O350 Y RFREEMABY v/NS 1
2iYBroB | | ADER | | ERFER || mATESR

/




